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OZEBNY D22 SHIHC 2
250,000& = 12& 3,000
OB22XY RFH =2 8,000 = 128 96
O2HIE0E =& 200
OFINZEAN =222 897
02 3524l 126,240 138,740 A 12,500
OX S RHA 2,600
OXNsx B2 10,900
OXsSx AFD AL XIS 2(20%) 2,000
o=tdide="2 500
OXt& = X bl 110,000
-5 35,000
-SE X 25,000




SM: HPD
M T EEF 2
& S8 2el )
= _ — d =
SA - BB B (BA) - MM - BHES e
-stE Xt 45,000
-Z &) 5,000
OSLT =&l = 20,000& = 12& 240
202 oddl 22,896 16,524 ,372
01 = LH o4 1l 22,896 16,524 ,372
Oxgaelde =& 22,896
HY2FZH (MR 41,173 40,468 705
Jl2ZH (M) 41,173 40,468 705
JlEdul (M=) 41,173 40,468 705
201 Let24E] 33,397 31,732 ,665
01 At 22l 24,997 23,332 ,665
OJle+=EHl 12,210
OJle sl 12,787
02 =224l 8,400 8,400 0
Od2REE= 700,000& = 123 8,400
202 04l 2,916 2,484 432
01 = LH Yl 2,916 2,484 432
OMRL JI2gdR2=d 2,916
203 R =&t 4,860 4,752 108
04 RFN2ELRZTH| 4,860 4,752 108
OMSL SH2ZA2EE
450,000 = 128 = 90/100 4,860




